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Examplebs:
1.. Find the Lagrange error bound in approximating sin(0.1) using the Maclaurin polynomial of degree 3.
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2. Find the Lagrange error bound in approximating ™™’ using the Maclaurin polynomial g’ degree 4. 06_ j
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3. How many terms of the Maclaurin polynomial of f(x) = In(1+x) are needed fo approximate f{-0.2) with an

error less than 107, 2 D
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4. How many terms of the Maclaurin polynomial o f (x} =CoSsx centere
with an error less than 107,

are required to approximate £(0.7)
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Homework:

1. Use Taylor’s Theorerr:?[ i

obtain an upper bound for the error of the approximation for
2 k} 4 k)
e=l+1+ L +— 1 + 1— !

CX -
S21 31 4151 . Then calculate the exact value of the error. c X f IO} g
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2. Determine the degree of the Maclaurin polynomlal required for the error in the approxunallon of the
f(x)=sinx at x =0.3 to be less than 0.001.
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3. Determine the degree of the Maclaurin polynomial required for the error in the
f{x)= ln(x+l) at x = 0.5 to be less than 0.0001.
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4. Find the Lagrange error bound in approxlmatlng cos(O 45) using the Maclaurin polynomlal of degree 3.
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5. Find the Lagrange error bound in approximating f(x) = In(1+x)at x = 0.6 Maclaurin polynomlal of degree 3.
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